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ENGLISH VERSION

Instructions : (1) Draw neat and clean diagram wherever
necessary.

(2) All questions carry equal marks.

1 Explain the types and importance of bauxite. State the 14
producing regions of bauxite.
OR
1 Explain the economic importance of mining activity and 14
discuss briefly iron-ore producing regions of the world.

2  What is an industry ? Discuss the factors affecting the 14
localization of an industry.
OR
2 Explain the economic importance of Petroleum and 14
mention the regions producing them.

3  Give a detailed account of iron and steel industry of 14
World.
OR
3 Explain the importance of cotton textile industries and 14

give account of cotton textile industry of India.

4  What is transportation ? Explain the important factors 14
affecting 1it.
OR
4  Evaluate the trade as an economic activity and state 14
the types of trade.
5  Write notes on any two of the following four notes : 14

(a) Advantages of air transportation.
(b) Conservation of energy minerals.
(¢0 Manganese fields of the world.

(d) Petrochemical industry of India.
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